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Questions based on 
Blaha & Rumbaugh, Object-Oriented Modeling and Design with UML, Prentice-Hall, (2nd ed.), 2005 and Larman, Applying UML and Patterns, (3rd ed), Prentice-Hall, 2005.
1. By definition an actor is always external to a system. It may be an object (or a set of objects) that communicates directly with the system but is not part of the system. (p 131 Blaha & Rumbaugh)

2. An actor has a single well-defined purpose. Objects and classes, on the other hand, often combine different purposes. (p 132  Blaha & Rumbaugh)

3. No. An actor can be a anything (or anyone) that communicates directly with the system but is not part of the system. So, another subsystem (or system) could be viewed as an actor. (p 132  Blaha & Rumbaugh)

4. A use case represents "a coherent piece of functionality" that a system provides to one or more actors. You cannot have a use case without an actor. A use case describes the interaction between the system and one or more actors. (p 132  Blaha & Rumbaugh)

5. Grouping normal and abnormal behavior within the same use case "helps to ensure that all the consequences of an interaction are considered together". (p 133  Blaha & Rumbaugh)

6. One example would be a soda machine that only accepts U.S. coins. If the user puts in a Canadian quarter it would not be accepted. The user would probably view this as an error. But the system would simply see this as "another situation to handle". (p 133  Blaha & Rumbaugh)

7. A complete set of use cases can be used to partition the functionality of a system. (p 133  Blaha & Rumbaugh)

8. System-level use cases usually represent functional requirements. They typically do not consider non-functional requirements. (p 134  Blaha & Rumbaugh)

9. Yes. Otherwise the "actor" is not really an actor. (p. 136  Blaha & Rumbaugh)

10. An actor represents "one kind of object for which the system can perform behavior". Obviously this depends on how you define "kind", which represents a classification scheme. The number of actors will vary from system to system. It will also depend on the classification scheme that you have adopted. For example, in Fig. 7.3 there are three kinds of users identified for the vending machine system. (pp 134, 5  Blaha & Rumbaugh)

11. You should first identify the system boundary. If you don't, then it is impossible to determine whether an actor is not part of the system. (p 135 Blaha & Rumbaugh)

12. A use case should be associated with system behavior that adds "value" to an enterprise. The enterprise exists for the stakeholders. Consequently, the stakeholders should determine the value. (p 136 Blaha & Rumbaugh)
13. The "text story" describes the interaction between one or more actors and a given system. The scenario the captures this interaction is like a story. (p 63 Larman 3rd ed.)
14. A contract is usually between two parties and it defines what is expected from each party. Here the use case defines what is expected from the actors and the system. (p 65, Larman, 3rd ed.)
15. There is nothing object-oriented about use cases. They are broadly applicable. However, they are very helpful when doing object-oriented analysis and design. (p 64 Larman 3rd ed.)
16. They are text documents. However, you may draw a use case diagram to show the names of the use cases and the actors. (p 64 Larman 3rd ed.)
17. A primary actor has their user goals met through using the services of the system. A supporting actor, on the other hand, provides a service to the system so that the primary actor may realize their goal. (p 66 Larman 3rd ed.)

18. The scope refers to everything within the system boundary. The scope limits the concern of the system. If something is outside the scope, then the system ignores it. (p 72 Larman 3rd ed.)
19. A stakeholder is anyone who has a vested interest in the system. This interest may be direct, such as a user, or indirect, e.g., someone who is indirectly affected by the operation of the system. (p 73 Larman 3rd ed.)
20. Sometime this is called the "happy path" scenario or "typical flow". Normally it is a single sequence of actions with no branching, representing the interaction between the actors and the system. (p 74 Larman 3rd ed.)
21. Alternate scenarios are usually represented using Extensions (or Alternate Flows). (p 75 Larman 3rd ed.)
22. Yes and no. They can be recorded under "Special Requirements". However, they should really be recorded in the Supplementary Specification. (p 77 Larman 3rd ed.)
23. This allows the actions to remain free of any particular technology choices, avoiding a premature implementation decision. (p 80 Larman 3rd ed.)
24. No. Focus on the intentions of the user and the responsibilities of the system. If you describe the uers interface at this point in the development process you are probably making a premature implementation decision (which is not a good idea). (p 80 Larman 3rd ed.)
25. Too many words at this point tend to cloud the focus of the use case. Be precise and clear, but don't use more words than necessary. (p 81 Larma 3rd ed.)
26. The focus at this point in the development process is analysis, e.g., "What should the system do?", not on design, e.g., "How should the system do it?" Knowing how the system works would require you to know "what is inside the box". (p 81 Larman 3rd ed.)
27. No. Sometimes the goal may be more closely associated with a stakeholder who is not an actor. For example, for a keycard entry system in a building the goal of the system is really not determined by the person trying to enter the room; the goal is more closely associated with the people managing the rooms -- who are not simply concerned that authorized people have access but that unauthorized people cannot gain access. (Grabow)
28. Identify the system boundary. (p 83 Larman 3rd ed.)
29. Brainstorming (p 83 Larman 3rd ed.)
30. You should ask the question that focuses on goals. The first question would simply uncover what is already being done, whether or not it is related to any recognizable goal. (p 85 Larman 3rd ed.)
31. A verb (or verb phrase) (p 87 Larman 3rd ed.)
32. It represents a task that can be performed by one person in one plance at one time, in response to a business event, which adds measurable business value and leaves the data in a consistent state. It can be used to limit the scope of a use case and to associate it with a goal.(p 88 Larman 3rd ed.)
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